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[1] #PCB 89 0.8 X2.1
[1-1]E/ a7 =V 15 0.02 0.06
[12] Y7 ru b7 = =)L 24 0.2 0.4
[1-3] NV Zoa b7 o=/ 23 0.1 0.3
[1-4] 7 T 7 oa 7 ==Lk 14 0.2 0.5
[1-4-11 277 F—PCBD 5 H 33 44-7F hFr7uut 7=V (#77) 0.09 0.02 0.04
[1-4-2] 2 75F—PCBDH H 3445 T hFr7unb7==/ (#81) tr(0.010) 0.009 0.022
[1-5] v % Z7un 7 ==/)VJF 8.4 0.09 0.24
[1-5-11 275 F—PCBD 5 H 23344~ ¥ 7unb 7 ==/ (#105) 0.22 0.02 0.04
[1-52] 275 F—PCBD 5 H 234454 r7unt7==/L (#114) tr(0.02) 0.02 0.05
[1-5-3] 275 F—PCBD H H 23445 ¥ 7unb ==/ (#118) 0.62 0.01 0.03
[1-5-4] 275 F—PCBD H H 23445 ¥ 7unb ==/ (#123) nd 0.02 0.06
[1-5-5] 275 F—PCBD 5 H 33445 ¥ 7unb ==/ (#126) tr(0.01) 0.01 0.03
[1-6] ~FH 7 ur b7 =)L 3.5 0.05 0.12
[1-6-11 27 F 7 —PCBD ) 5 233 44 5-~FHh 7ot 7 =)L (#156) 0.04 0.02 0.04
[1-6-2] 275 F—PCBD 5 H 233445 ~FV7unb ==L (#157) tr(0.01) 0.01 0.03
[1-6-3] 275 F—PCBD H H 2,344 55 ~FV7unb ==/l (#167) tr(0.02) 0.01 0.03
[1-6-4] 2777 —PCBD ) 5 33 44 55-~FHsopb 7 ==/ (£169) nd 0.01 0.03
[1-7]~FZ 7 oo b7 ==Lk 0.75 0.05 0.13
[1-7-11 275 F—PCBD 5 H 223344 5-~F4 7t 7=\ (#170) 0.07 0.01 0.04
[1-7-2] 275 F—PCBD 5 H 22 344,55-~F4 7t 7=/ (#180) 0.12 0.01 0.03
[1-7-3] 275 F—PCBD 5 H 2,33 44,55-~F4 7t 7=/ (#189) nd 0.01 0.03
[1-8] A7 % 77 =~ =/VJF tr(0.09) 0.07 0.18
[1-9] /FZvnu b7 = =)L nd 0.03 0.09
[1-10] T hH7upE T x2=/L tr(0.02) 0.02 0.04
[2]HCB (~FH oo~ El) 99 0.06 0.14
[11] HCHJH 33 %0.14 %0.34
[11-1] «-HCH 20 0.05 0.12
[11-2] B-HCH 3.9 0.02 0.06
[11-3]y-HCH (34 : YT V) 8.3 0.05 0.12
[11-4] 5-HCH 0.88 0.02 0.04
[4 AV TeEY T =Nz —T VHH (BREHD4H10ETDOH D) 43 0.5 %1.5
[14-11 7 77 BEY T = =)L =—F )L 0.09 0.01 0.04
[14-1-1]122'44-7T h T 7 0E V7 2 =)L—F /)L (#47) 0.07 0.01 0.03
[14-2] R ETREY T = =)L T—F )LF tr(0.07) 0.05 0.12
[14-2-1122'44' 520 27 0EY 7 = =)L T=—F )L (#99) tr(0.03) 0.02 0.05
[14-3] ~FH T HEY T = =)L =—F )LF tr(0.05) 0.05 0.13
[14-3-1122'4,4' 55 -~FH T 0EY 7 = =)L =—F )L (#153) nd 0.03 0.07
[14-3-2122' 4,4 5,6 ~FH T 0 EY 7 = =)L =—F )L (#154) nd 0.03 0.07
[14-4] ~FF T 0EY T =2 =)L =—TF )L 0.3 0.1 0.3
[14-4-1]12,2'3,3'4,5,6-~T X 70 EY 7 = =)L =—F /)L (#175) nd 0.02 0.04
[14-4-2]122'3,44'.5,6-~T X7 0EY 7 = =)L =—7 /)L (#183) 0.09 0.03 0.07
[14-51 427 T 0EY T = =)L =—F )L 0.4 0.1 0.3
[14-6] / 7 0EY 7 = =)L —F LI 0.7 0.1 0.3
[14-7] T H7BEY T2 =)LT—F /)L 2.7 0.1 0.3
[15] V7 vty & Ak (PFOS) 37 03 0.8
[16] ~V 7 A rAs % (PFOA) 5.9 0.3 0.8
[17] 2 & Z7aa~N P 68 0.04 0.09
[19] 1,2,5,6,9,10-~F % T mE 710 KT 4 1.1 0.4 %0.9
[19-1] @-12,5,6,9,10-~F T aEv 70 RTh 0.7 0.1 0.3
[19-2] £-1,2,5,69,10-~FH T aEv s a KT h v tr(0.18) 0.08 0.21
[19-3]17-1,2,5,6,9,10-~F % T uEv 0o RTh v tr(0.2) 0.2 0.4
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[20] #aA VI kT Z L~ 380 %0.2 0.6
[20-1] &/ HidkF 7 2 LV 290 0.03 0.08
[20-2] Uik T 7 2 L H 61 0.02 0.06
[20-3] P UidkF T X L 12 0.02 0.06
[20-4] 7 K ZHELF T X LU 13 0.04 0.11
[20-5] N 2k 7 X LUK 1.8 0.03 0.08
[20-6] ~F Vb7 X L S 0.23 0.03 0.07
[20-7] ~F b7 X LU tr(0.02) 0.02 0.04
[20-8] A7 Xk o2 L~ nd 0.02 0.05
RI]~FHronTH-13-Vx 2,700 | 3,800 | 4,200 20 50
[22] X Frmana T /)= I NIZ DR T 2T LS 38 %0.3 0.9
[22-1] X% Zun T /=)L 3.7 0.2 0.6
[22:2] v rpuy="Y—) 34 0.1 0.3
[23] MR N T 7 4 U tr(700) X400 %1,100
[23-1] RT3 tr(300) 100 400
[23-2] iRk Y T LV HE 300 100 300
[23-3] i Bk R 7 5 nd 90 260
[23-4) iR N U T nd 80 250
[24] ¥ =L nd 0.2 0.4
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